ITEMS REQUIRING BOCC APPROVAL January 7, 2021 (5 Items)

1. EMERGENCY VEHICLE PARTS -- FLEET MANAGEMENT

FUNDING -- FLEET MANAGEMENT

(Request sent to 73 vendors)

RFB #20-0058 Contract

Description	Part #	Qty		quipment Co., nc.	Ka-Con	nm., Inc.	Moonshine Gener	Engine and ator **		gency Response es LLC	Traffic Control	l Services, Inc.
			Each	Total	Each	Total	Each	Total	Each	Total	Each	Total
1. PI Utility 2020+ Contour Console (20" FP - 6" top 14" bottom)	425-6505	10	\$367.00	\$3,670.00	\$336.00	\$3,360.00	\$358.80	\$3,588.00	\$309.95	\$3,099.50	\$323.00	\$3,230.00
Utility Box - Center Console (2.75" x 4" x8.5")	425-1485	10	\$45.00	\$450.00	\$41.29	\$412.90	\$42.55	\$425.50	\$34.15	\$341.50	\$33.39	\$333.90
 Side Sliding Armrest, PI Utility 2020+ 	425-2250	10	\$59.90	\$599.00	\$52.50	\$525.00	\$51.75	\$517.50	\$45.75	\$457.50	\$45.00	\$450.00
4" Dual ABS Cup Holder (Internally Mounted)	425-3704	10	\$47.25	\$472.50	\$40.52	\$405.20	\$51.75	\$517.50	\$36.50	\$365.00	\$34.73	\$347.30
5. 3x 12V Outlets in 2" Faceplate	425-6651	10	\$44.50	\$445.00	\$38.18	\$381.80	\$37.95	\$379.50	\$35.45	\$354.50	\$32.72	\$327.20
7Console Side Mount for Docking Station	425-5699/4144	10	\$454.00	\$4,540.00	\$385.66	\$3,856.60	\$470.35	\$4,703.50	\$382.62	\$3,826.20	\$393.11	\$3,931.10
7. ZRT Smart Gun Rack	475-2010	10	\$445.00	\$4,450.00	\$408.10	\$4,081.00	\$427.80	\$4,278.00	\$374.95	\$3,749.50	\$359.80	\$3,598.00
8. PI Utility 2020+	475-1401	10	\$321.50	\$3,215.00	\$294.00	\$2,940.00	\$304.75	\$3,047.50	\$269.00	\$2,690.00	\$287.00	\$2,870.00
9. PI Utility 2020+	475-0063	10	\$766.00	\$7,660.00	\$701.19	\$7,011.90	\$746.35	\$7,463.50	\$645.12	\$6,451.20	\$636.25	\$6,362.50
10. PI Utility 2020+	475-0968	10	\$115.00	\$1,150.00	\$101.28	\$1,012.80	\$109.25	\$1,092.50	\$91.05	\$910.50	\$96.81	\$968.10
11. PI Utility 2020+	475-0067	10	\$476.50	\$4,765.00	\$436.30	\$4,363.00	\$477.25	\$4,772.50	\$399.15	\$3,991.50	\$383.85	\$3,838.50
12. Cargo Barrier Equipment Tray, PI Utility 20+	425-8001	10	\$182.00	\$1,820.00	\$196.00	\$1,960.00	\$293.25	\$2,932.50	\$175.24	\$1,752.40	\$254.00	\$2,540.00
13. TK0232ITU20, Cargo Storage System - LFK - BSN	TK0232ITU20	10	\$1,168.00	\$11,680.00	\$1,206.15	\$12,061.50	\$1,190.25	\$11,902.50	\$1,196.00	\$11,960.00	\$1,267.63	\$12,676.30
14. 100W Speaker with Universal Bracket	C3100U	10	\$192.00	\$1,920.00	\$170.78	\$1,707.80	\$172.50	\$1,725.00	\$145.00*	\$1,450.00*	Included in	item #18*
15. PB400 Aluminum Bumper	BK0534ITU20PB5	10	\$397.00	\$3,970.00	\$424.15	\$4,241.50	\$408.25	\$4,082.50	\$405.00*	\$4,050.00*	\$476.53	\$4,765.30
16. PB5 PB300/400 Fender Guards	FK0400ITU20	10	\$397.00	\$3,970.00	\$424.15	\$4,241.50	\$483.00	\$4,830.00	\$419.32	\$4,193.20	\$484.23	\$4,842.30
17. Remote Sire	Z3	10	\$844.00	\$8,440.00	\$747.91	\$7,479.10	\$803.85	\$8,038.50	\$650.00*	\$6,500.00*	Included in	i item #18*
18. Code 3 Multi-Colored 47" Light Bar Sedgwick County Config #C139664	21TR47MC	10	\$2,335.00	\$23,350.00	\$2,136.87	\$21,368.70	\$1,360.45	\$13,604.50	\$1,175.00*	\$11,750.00*	\$1,998.98*	\$19,989.80*
19. Adapter Bracket 2012-Present Ford PI Utility 47" AND 52" Black	ADJBKT004-B	10	Included w	ith item #18	\$42.62	\$426.20	Included w	ith item #18	\$55.00	\$550.00	Included in	i item #18*
20. 4 LED Split Light Head Red/Blue	XTP4RB	10	\$50.75	\$507.50	\$44.56	\$445.60	\$49.45	\$494.50	\$75.50*	\$755.00*	\$117.60*	\$11,760.00*
21. Cargo Freestanding Brackets	TF0292ITU20	10	\$147.00	\$1,470.00	\$69.70	\$697.00	\$77.05	\$770.50	\$75.90	\$759.00	\$64.78	\$647.80
22. Siren, Amp, Rumbler, Secondary Warning System, 12V, Low Frequency Tones, Hardware Kit, Housing Bands and Cradles	RUMBLER-3	10	\$555.00	\$5,550.00	\$444.60	\$4,446.00	\$573.85	\$5,738.50	\$435.00	\$4,350.00	\$480.00*	\$4,800.00*
23. Rumbler Mount for FPIU, 20+	RB-FPIU20	10	\$60.00	\$600.00	\$30.00	\$300.00	\$40.25	\$402.50	\$34.50	\$345.00	\$62.50*	\$625.00*
		Total		\$99,261.50		\$87,725.10		\$85,307.00		\$74,671.50		\$88,903.10
No Bid			Adamson Inc	dustries Corp.	Control Te	cchnologies	Emery and A	ssocates, Inc.	Jotto	Desk	Southwest P	ublic Safety

On the recommendation of Joe Thomas, on behalf of Fleet Management, Russell Leeds moved to accept the next overall low bid meeting specifications from Ka-Comm, Inc. for an initial purchase of \$87,725.10 and establish contract pricing for two (2) years with three (3) one (1) year options to renew. Anna Meyerhoff seconded the motion. The motion passed unanimously.

These items are installed in Sheriff, Fire, and Public Works' vehicles. Sedgwick County spent approximately \$35,471.95 on emergency vehicle parts in 2019.

Note:

*Items do not meet specifications.

**This item was originally approved by the BoCC on December 16, 2020. Prior to a contract being created, Moonshine Engine and Generator asked to withdraw their bid due to circumstances beyond their control.

Questions and Answers

Tim Myers: Was that cost of \$35,000.00 so much lower because we didn't have so many new vehicles?

Britt Rosencutter: I think it's possible that it's not all of the purchases that we made. It might just be from one area. I meant to get that checked before this. The purchases we are making now is pretty close to annually because of the Sheriff vehicles.

2. NBS LIBRARY PLUS TRAINING AND CONTINUING EDUCATION SOFTWARE -- EMERGENCY MEDICAL SERVICE (EMS) <u>FUNDING -- EMS</u>

(Hardware/Software Maintenance)

#20-2089 Contract

		Ninth Brain Suite, LLC				
	Qty	Qty Item Price Item Total				
NBS Library Plus Training and Continuing Education Software	220	\$55.20	\$12,144.00			
Premier Package	220	\$30.00	\$6,600.00			
			\$18,744.00			

On the recommendation of Joe Thomas, on behalf of EMS, Tim Myers moved to accept the quote from Ninth Brain Suite, LLC at an annual cost of \$18,744.00 and authorize continued autorenewals per contract language. Randy Bargdill seconded the motion. The motion passed unanimously.

Ninth Brain Suite, LLC software has been fully integrated into EMS daily operations for five (5) years. The program has functioned very successfully as the primary repository for tracking of FDA controlled medications, exposure and injury, logistic requests, employee performance, investigations, education distribution, recertification hours, and Kansas Board of EMS quality assurance compliance tracking. In addition, it allows dissemination of policy changes and administrative communication with front line staff. The flexibility of the program allows the collection of data from multiple sources for efficient data query.

Note: In 2019, the county paid \$18,744.00.

3. ON-CALL CARPET SERVICES -- VARIOUS DEPARTMENTS <u>FUNDING -- VARIOUS DEPARTMENTS</u>

(Request sent to 57 vendors)

RFB #20-0068 Contract

	Harry Street Carpet				
Broadloom - Percentage Material Mark-Up Over Manufacturer	10%				
Carpet / Tile - Percentage Material Mark-Up Over Manufacturer		10%			
Vinyl Composition Tile - Percentage Material Mark-Up Over Manufacturer		10%			
Vinyl Base - Percentage Material Mark-Up Over Manufacturer		10%			
Hourly Labor Rate (Business Hours)	\$3	80.00 per man/per ho	ur		
Hourly Labor Rate (Overtime/After Hours)	\$30.00 per man/per hour				
Additional labor rate for installation (overtime/after hours)	\$0.22 per square foot		t		
Percentage of mark-up added to vendor's material costs for additional floor prep	10%				
Acknowledge Addendum	Yes				
	Carpet Value	Continental Flooring Company	Crown Flooring, LLC		
No Bid	Dondlinger & Sons Construction Co.	Farha Building & Carpet Supply	Great American Hardwood Flooring		
	Hentzen Contractors, Inc.	MW Builders	National Flooring		

On the recommendation of Lee Barrier, on behalf of various departments, Randy Bargdill moved to **accept the bid from Harry Street Carpet.** Anna Meyerhoff seconded the motion. The motion passed unanimously.

On-call carpet services are used countywide to provide replacement and repair of broadloom carpet, carpet tiles, and vinyl floor tile. Harry Street Carpet has been the provider for the county for over 25 years.

Note: In 2019, the county paid \$34,780.06.

Questions and Answers

Russell Leeds: Is the price quoted pretty comparable to what we've done on the last contract with them?

Lee Barrier: We used 2019 figures because 2020 was such a sporadic, weird year for us. It seems to be pretty much on target. I do anticipate a little bit of an increase this coming year because they are redoing the Clerk's office currently and some other projects.

Russell Leeds: But their labor rates and pricing is pretty comparable? No significant increases?

Lee Barrier: Yes, sir.

4. 6 EACH 2020 LARGE INTERMEDIATE 4-DOOR SEDANS -- FLEET MANAGEMENT/SHERIFF'S OFFICE/SEDGWICK COUNTY DISTRICT ATTORNEY <u>FUNDING -- FLEET MANAGEMENT/SHERIFF</u>

(Request sent to 87 vendors)

		Amaru Motors 3 LLC dba C	harlie Clark Nissan El Paso		
	Qty.	Unit Cost	Extended Cost		
2020 Large Intermediate 4-Door Sedans	6 Ea.	\$40,555.26	\$243,331.56		
Manuals: One (1) Complete set Paper or Electronic	6 Ea.	\$0.00	\$0.00		
	Total		\$243,331.56		
Make and Model:		2021 Nissan	Maxima SV		
Order Cutoff Date		No	ne		
Delivery Date		45 Days	s ARO		
		Davis-Moore Automotive, Inc.			
	Qty.	Unit Cost	Extended Cost		
2020 Large Intermediate 4-Door Sedans	6 Ea.	\$25,975.00	\$155,850.00		
Manuals: One (1) Complete set Paper or Electronic	6 Ea.	\$0.00	\$0.00		
		\$155,850.00			
Make and Model:		2021 Dodge Charger SXT RWD			
Order Cutoff Date		None given			
Delivery Date		8 - 10 weeks ARO			
			Parks Motors		
	Qty.	Unit Cost	Extended Cost		
2020 Large Intermediate 4-Door Sedans	6 Ea.	\$26,364.00	\$158,184.00		
Manuals: One (1) Complete set Paper or Electronic	6 Ea.	\$0.00	\$0.00		
	Total		\$158,184.00		
Make and Model:	2021 Police Charger RWD 5.7 Hemi				
Order Cutoff Date	February 2021				
Delivery Date		90-120 days			
		Elite Auto Sales	Hatchett Hyundai East		
		Long McArthur Ford Lincoln	Masters Transportation		
No Bid		Mercury	masters transportation		
		Midway Motors of Hutchinson	Orr Nissan of Wichita, Inc.		
		Stuteville CBG of Ponca City, LLC	Summit Truck Group		

On the recommendation of Britt Rosencutter, on behalf of Fleet Management, Sheriff's Office, and Sedgwick County District Attorney, Anna Meyerhoff moved to **accept the low bid from Davis-Moore Automotive, Inc. in the amount of \$155,850.00.** Randy Bargdill seconded the motion. The motion passed 3 to 1 with Tim Myers abstaining from the vote as his office will utilize the contract.

The unmarked vehicles are primarily utilized by detectives and supervisors in a law enforcement capacity. These vehicles are utilized to conduct low level surveillance as well as transportation of victims and suspects. They are also used to transport evidence including evidence collecting equipment. The unmarked vehicles on rare occasions are utilized to conduct traffic stops.

The District Attorney's vehicle is assigned to the Investigation Unit and is driven for investigation related purposes such as process service, criminal investigations, consumer fraud investigations, victim/witness transports and other miscellaneous business related purposes. The vehicle is driven daily to conduct routine and necessary department specific business related primarily to the criminal division of the District Attorney's office.

Notes:

Sheriff's vehicles being replaced:

 3210 - 2006 Chevrolet Impala
 Vin# 2GIWB55K169361868
 Points - 19.4 Mileage - 132,703

 3705 - 2008 Dodge Charger
 Vin# 2B3KA43R18H333260
 Points - 16.8 Mileage - 140,224

 3707 - 2008 Dodge Charger
 Vin# 2B3KA43R58H333262
 Points - 15.9 Mileage - 144,193

 3858 - 2013 Chevrolet Impala
 Vin# 2G1WF5E31D1264114
 Points - 15.4 Mileage - 188,906

 3755 - 2009 Chevrolet Impala
 Vin# 2G1WB57K791307894
 Points - N/A Mileage - 85,794 at time of accident. Vehicle was considered totaled.

DA's vehicle being replaced: 4034 - 2009 Chevrolet Impala Vin# 2G1WB57K091306361 Points - 16.3 Mileage - 117,609

5. 3 EACH 3/4 TON 4WD EXTENDED CAB TRUCKS W/8' BEDS -- FLEET MANAGEMENT/PUBLIC WORKS <u>FUNDING -- FLEET MANAGEMENT/PUBLIC WORKS</u>

(Request sent to 72 vendors)

RFB #20-0045 S/C # Pending

KID #20-0045 B/C # I chang				
		Davis-Moore Chevrolet, Inc.		
		Qty.	Unit Cost	Extended Cost
3/4 Ton 4WD Extended Cab Trucks w/8' Bed		3 Ea.	\$36,043.00	\$108,129.00
Manuals: One (1) Complete set Paper or Electronic		3 Ea.	\$0.00	\$0.00
	Total			\$108,129.00
Make & Model:		20	21 Chevy Silverado	2500 HD
Order Cutoff Date			1/21/2021	
Delivery Date			20 Weeks	
			Don Hattan Chev	rolet
		Qty.	Unit Cost	Extended Cost
3/4 Ton 4WD Extended Cab Trucks w/8' Bed		3 Ea.	\$35,330.00	\$105,990.00
Manuals: One (1) Complete set Paper or Electronic		3 Ea.	\$0.00	\$0.00
	Total			\$105,990.00
Make & Model:		2021 Chevy Silverado 2500 HD		
Order Cutoff Date		1/15/2021		
Delivery Date		90 Days ARO		
			Parks Motors	
		Qty.	Unit Cost	Extended Cost
3/4 Ton 4WD Extended Cab Trucks w/8' Bed		3 Ea.	\$44,138.00	\$132,414.00
Manuals: One (1) Complete set Paper or Electronic		3 Ea.	\$0.00	\$0.00
	Total	stal \$132,414.0		\$132,414.00
Make & Model:		2021 RAM 2500 Tradesman		
Order Cutoff Date		None given		
Delivery Date		8-14 Weeks		
		Rusty Eck Ford		
		Qty.	Unit Cost	Extended Cost
3/4 Ton 4WD Extended Cab Trucks w/8' Bed		3 Ea.	\$34,437.00	\$103,311.00
Manuals: One (1) Complete set Paper or Electronic		3 Ea.	\$0.00	\$0.00
	Total			\$103,311.00
Make & Model:		2021 Ford F250		
Order Cutoff Date		2/18/2021		
Delivery Date		12-15 Weeks		
		Doug Rel	h Chevrolet, Inc.	Masters Transportation
No Bid		Midway Motors of Hutchinson		Orr Nissan of Wichita, Inc.
		Stuteville CBG of Ponca City		Summit Truck
		LLC		Group

On the recommendation of Britt Rosencutter, on behalf of Fleet Management and Public Works, Tim Myers moved to **accept the low bid meeting specifications from Don Hattan Chevrolet in the amount of \$105,990.00.** Anna Meyerhoff seconded the motion. The motion passed unanimously.

These trucks are driven by the yard foremen to take employees to public work job sites around the county. They also will be used to tow the "road closed" trailer to job sites, as well as used to put up road signs around the county.

Notes:

Rusty Eck Ford had the overall low bid but did not meet specifications on the automatic transmission with overdrive and tow/haul mode.

Vehicles being replaced:

0502 - 2009 Ford F350	Vin# - 1FTWF30589EA29154	Points - 17.8	Mileage - 107,305
0591 - 2012 Chevrolet CK10903	Vin# - 1GCRKPE09CZ171106	Points – 16.1	Mileage - 243,360
0569 - 2012 Dodge 2500HD	Vin# - 3C6TD5HT6CG148030	Points - 19.3	Mileage - 139,869

These are replacement vehicles. Surplus vehicles will be sold on Purple Wave Auction.

Questions and Answers

Russell Leeds: Can you speak as to the specification? Was this a Request for Bid?

Britt Rosencutter: It was a Request for Bid.

Russell Leeds: The specifications on the Request for Bid did call for the tow/haul mode feature on the transmission?

Britt Rosencutter: That is correct.

Russell Leeds: Does Ford make a vehicle with that feature that we are aware of?

Penny Poland: Yes. Ford could have bid a different truck and the specifications and they did not.

Russell Leeds: So Ford has the tow/haul mode feature in their transmission but on a larger vehicle bigger than a 250?

Penny Poland: Yes sir, that is correct.

Russell Leeds: On this item, we spec'd the tow/haul feature because of the frequency in which they are towing that trailer? Is this a safety feature or is this a feature that extends the life of the truck on the transmission?

Penny Poland: Yes. We wanted that type of truck that could pull that trailer without putting too much effort on the engine and transmission.